
Quest ce que le cadeau  J' - ? ( )Quel nombre se trouve dans chaque cadeau?
120 ÷ 12 = 63 ÷ 9 = 6 ÷ 3 =8 ÷ 4 = 84 ÷ 7 = 28 ÷ 4 =80 ÷ 10 = 14 ÷ 7 = 6 ÷ 2 =121 ÷ 11 = 66 ÷ 6 = 12 ÷ 2 =72 ÷ 6 = 48 ÷ 6 = 45 ÷ 9 =12 ÷ = 3 21 ÷ = 3 30 ÷ = 320 ÷ = 5 16 ÷ = 8 24 ÷ = 1220 ÷ = 4 48 ÷ = 6 15 ÷ = 5120 ÷ = 10 72 ÷ = 12 60 ÷ = 1255 ÷ = 11 44 ÷ = 4 22 ÷ = 11÷ 5 = 4 ÷ 10 = 4 ÷ 2 = 6÷ 5 = 3 ÷ 12 = 6 ÷ 11 = 10÷ 2 = 9 ÷ 10 = 9 ÷ 4 = 11÷ 11 = 2 ÷ 6 = 10 ÷ 10 = 12÷ 12 = 4 ÷ 3 = 5 ÷ 6 = 5
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Quest ce que le cadeau  J  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
120 ÷ 12 = 10 63 ÷ 9 = 7 6 ÷ 3 = 28 ÷ 4 = 2 84 ÷ 7 = 12 28 ÷ 4 = 780 ÷ 10 = 8 14 ÷ 7 = 2 6 ÷ 2 = 3121 ÷ 11 = 11 66 ÷ 6 = 11 12 ÷ 2 = 672 ÷ 6 = 12 48 ÷ 6 = 8 45 ÷ 9 = 512 ÷ 4 = 3 21 ÷ 7 = 3 30 ÷ 10 = 320 ÷ 4 = 5 16 ÷ 2 = 8 24 ÷ 2 = 1220 ÷ 5 = 4 48 ÷ 8 = 6 15 ÷ 3 = 5120 ÷ 12 = 10 72 ÷ 6 = 12 60 ÷ 5 = 1255 ÷ 5 = 11 44 ÷ 11 = 4 22 ÷ 2 = 1120 ÷ 5 = 4 40 ÷ 10 = 4 12 ÷ 2 = 615 ÷ 5 = 3 72 ÷ 12 = 6 110 ÷ 11 = 1018 ÷ 2 = 9 90 ÷ 10 = 9 44 ÷ 4 = 1122 ÷ 11 = 2 60 ÷ 6 = 10 120 ÷ 10 = 1248 ÷ 12 = 4 15 ÷ 3 = 5 30 ÷ 6 = 5
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